3.1

3.1

14




3.2

50cm

50m

15

50cm
0.5m



17100

50cm ;

50m

3.1

3.2

2.5m

1/2,500
50

16

1/500

50cm

250m



50m
1/25,000
1/25,000

17



3.3

18



19



Q=a(H+by?

20



21

HWL



100m

y(m) x(m)
° 2.0x  logio 38 77
° 1.6x  logio 38 62

22



1000 | ~

* 12 .

< 7
800 //

o R
sz17 90k |7
N R —
®
__ 1 sass sk
- o S ) .
o //
00 > . ’ . ............
o I //
200 . ‘l
- R /
[ S—
*
¢ <
448 58k
6.4k
0
0 200 400 600 800 1000

3.3

23



50cm

1/4

Ccos °

[ J
1/1,580 Q/Q, =(0.14+0.19xl0g,,(1/1))* cos(48—15x logy,(1/ 1))
1/1,580 1/33,600 Q/Qq =014+019x log;o(1/1)
1/33,600 Q/Qy =1

24



1/12,000 Q/Q, = cog155-38xl0g;,(1/1))

1/12,000 Q/Q, =1

(h2/h1<2/3)
(ho/hi 2/3)

hi h2

Q=035xh;,/2gh; xB

Q=091xhy,/2g(h, —h,) x B

hi h-

ne WA ENA HNCA,

° A+A+ A

n, = 0.060
n, = 0.047
n, = 0.050
rIO

A A A

n? =n,” +0.020 0
10

0 h

H8.2

25




3.2

26




3.4

27



3.3

1 0.5m
2 1.0m
3 2.0m 1
4 5.0m 2

12 9

28



3.4

0.5m/s
0.5m/s 1.5m/s
1.5m/s
12
3.5

1 0 30

2 30 1

3 1 2

4 2

12 9

29




3.6

1.0 h 0.5 h 1.0 H 0.5
1.5 V
0.5 V 1.5
V 0.5
1998
3.7
0.5m/s
0.5m/s 1.5m/s
1.5m/s

30




30

25

20

m/sec

10

05 |

0.0
0.0 05 10 15 20 25 30

3.5

- ; ll._-'l ,._‘.- Iil,; i ?_;{‘hii -_|.

e 1.5m3 /sec?
X 15 25m3/sec?
2.5m3 /sec?

31



5 S e, o
H Bpe LAt T gy
" i |

32



0.01 0.5m
05 10m
10 2.0m

20 50m

5.0m

12K

3.8

33



001 0.5m
05 1.0m
1.0 2.0m
2.0 5.0m
5.0m

0.01 0.5m/sec
05 1.5m/sec

1.5m/sec

Ly

30 L 1
L b
i L
i *‘:. i "l" |
2 ! Y
n‘_l. 1 i 1
. 1 =y I
.Ih .Ilh-\.
Ay f B
gty | NS
L R
i 1K S LR
L : il !
.Ih g '|.¥-\.J .
M| T e
L i &
| al

3.9

34




3.5

35



